O

HDOE‘E—GCH?,

98
4-
R |
125 128
0.1g/L
30g/L
* *xx 10-mmHg(**

)

20,000kg

o o S.PA
JTALY
OO 00O




IUPAC

o o o kgx 50%



—~=

PRTR



X

iigs

==
sl

il !




HO

C-OH

Ry

CH5OH

Dkkkk

-FkxK

_>

HO

4-

C-OCH;

H,O



1t

1t

1t

1t

1t

1t

3

v




PE

20,000Kg
kg

0.62kg t x 20t 12.4kg



a 2m3 1t
a 0.1lmg NL
152.15 a 50
a 0.1mg NLx 2m3x 273 50 273 0.170g
1t
mg NL 0 1 1L
mg
b
b
20ms b
0.1lmg NL
b 15
0.1lmg NL
b 0.1mg NLx 20m3x 273 15 273 1.99
1t
m
m
m
40m3 THF m 15
0.1lmg NL
0
100L 100L
1000L

0.1Img NLx 40ms3x 2x 273 15 273

7.584g 1t
0.lmg NLx 100 100 1000 Lx 273 15 273  0.114g
1t
m 7.584g 0.114g 7.698g
1t



4m3

30 n
4000Lx 273 273 30 3604NL
1t 3604NLx 8 28832NL
1t
n 0.1lmg NL
n 0.1mg NLx 28832NL 2.884g
1t
0
4m3 1t
0 0.1mg NL
152.15 0 30
0 0.1mg NLx 4ms3x 273 30 273
1t
a b m n 0
0.170 19 7.698 2.884 0.361 13.013g 1t
87.0%

0%

13.013x 1 0.87 1.692¢g

1692x 1 O 1.692¢g 1t
c d
c
d
c
13.103g
87.0%
99.0%
13.103gx 0.87x 0.01=0.114g it B

-9-

0.361g

1t

1t



d 0.5
400L 1t
d 1.03kg L
99.0% 15

400Lx 1.03kg Lx 0.005x 0.01=20.69

e f g h E

1.692g
0%
0%
60.0%

1692x0x 1 0 x 1 0.6 0

f g 2.5t 1t
0%
60%

2.5 tx 0.0003x (1 0)x (1 0.6)=300g

h 0.01%
0%
60%

5tx 0.0001x (1 0)x (1 0.6)=200g

-10-

1t

1t

1t

0.03%

1t

1t



j k
i
e f g h
e 1.692gx 0 Og
0%
f g 2.5 tx 0.0003 7509 f g
f g
h 5tx 0.0001 5009 h
h
0%
60.0%
40.0%
99.0% 900
2
(0g 750g 500g)x 0x 0.01=0g 1t

(0g 750g 500g)x (1 O)x (0.6 0.4)x 0.01 2.5g

1t
J
j 0.01%  ( )
j 60L 1t
0.89kg L( )
99.0% 900 2
60Lx 0.89kg Lx 0.0001x 0.01=0.054g 1t
K
K 05% ( ) K
1000L 1t 0.89kg
L( ) 99.0% 900
2
1000Lx 0.89kg Lx 0.005x 0.01=44.5g 1t
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***x 10*mmHg  **

p L
PE
10kg 0.5g
0.5g% 1000kg+ 10kg=50g / it L

0 0O X X ood
oOoo
o0 ood
00O
8
00O
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